www.kem-kueppers.com

info@kem-kueppers.com

KUppers Elekiromechanik GmbH

REMRFRIMERFSE DIN EN I1ISO 9001

BARHIER

HM...R

A ELT
ZH RIS



WWW.OCTSOURCES.COM

HM..R iREERETT

;|
WEC T T P T IORG A 1 I B AT 2T A B K (EEZK N2 BT 7K)
/(1 NI 1| NIV Sl SN E Y5 /S SR
AT A AN FE S B LS Fr s R, TSR k. LTI
L ESRTEN
e il
&N £ 7

T

KEMSRHE I T e 3 T A AR 2 7K 3R 1Y) T ) e ) e (A o
TAEW o W A B RE LI 7 A B e RE I8 3 . T IERE I
B S AR FIR T b B o R ESIR TT  T AY BE  E FRm e b Ah
7o LARRE R AR RER AR T, A IR Ee T R A e Tk ke
AT R I AR

S I [R]BE P I RO B T A BRIAE , a5 ghe /N
JFCH DR TS T A Jo 7 Tl 1) AR R AR H e [ (<50ms), RS T -
B R T TE A W 1 e G SR T I S LW A 5 N U 13 VIR -196°C £+350°C
TAERES: = 630 bar
5% 51 i ) O A o 4

BRARSH
- A g BRES iviias g
I/min bar kg
2 1cst > 8cst 2 1cst > 8cst

HM 009 RP* 0,03 Edl 0,8 139.000 - 630 1.900 - 0,5
HM 003 R* 0,3 ED) 1,5 32.000 32.500 630 1.100 - 0,3
HM 004 R* 0,5 E:2) 4 24.000 19.500 630 1.170 - 0,3
HM 005 R* 0,8 E) 6 17.800 17.800 630 1.740 - 0,4
HM 006 R* 1,2 ED) 10 11.000 11.000 630 2.100 - 0,4
HM 007 R* 2,0 E) 20 5.200 5.200 630 1.800 - 0,5
HM 009 R* 33 ) 33 1.900 4.200 630 1.080 2.200 0,5
HM 011 R* 6,0 E) 60 1.300 2.730 400 1.350 2.700 0,5
HM 013 R* 8,5 ) 85 900 1.900 400 1.300 2.600 0,9
HM 019 R* 15 Ed 150 310 650 400 925 2.000 1,3
HM 028 R* 30 E3 360 155 320 315 960 2.000 2,6
HM 030 R* 35 ER 400 130 270 315 1.000 1.800 29

1) KRB SN 1 mme/s T PEE, Bop BRSBTS A At . R SEE 2 AR bR 2 10 %
« IS ZHE

64


WWW.OCTSOURCES.COM

BIRSH

etk i SFRITEAYE 1,0% (1 mm?/s)
HEM +0,2%
R 0,8 % 100 mm?'s
i Ah: 54 DIN 1.4305 (SS303) 5} 1.4571 (SS316 Ti); 1.4404 (SS316 L)
Wik 54 DIN 1.4122 5 1.4460 (SS329)
HlR: i1 44, Saphire (HM* RP)
viwiii=iics -196°C % +350°C (3 =i /E 4 1)
Rt WS (55470)
FRECTi bR ES
ST vie* | wr+ | vier | ol | vrer | vies | tD* | vHE* | FOP*
%}ﬁ?{%ﬁ E E E E E E D E E/F
< +70°C
S | S+120°C v v v v
| <+150°C J J J
< +350°C v
EXPikit J
A v v v v v v J
XUREATEEA
LS H 4 - 20 mA J v
PIgE RS
W eoR J v
Eaustd J v
12-24 V B J v v v v v
CERTESE) v 7
HEAEEA v v

1) FLEGZEAEL: E: SRSk / D: XML / Fr I TORLTE kG
o ERLCHSIE WA FIn R k.

65



WWW.OCTSOURCES.COM

HM...R REiRE1T

R~FBE (mm) - HM...R

S
|
—

E
L

He E G L H P ™
HM 003 R* 12,5 G1/4* 60 30 E 12
HM 004 R* 12,5 G1/4* 60 30 E 12
HM 005 R* 12,5 G3/8" 70 30 E 1
HM 006 R* 12,5 G3/8" 70 30 E 11
HM 007 R* 12,5 G3/8" 74 30 E 10
HM 009 R* 12,5 G3/8" 79 30 E 9
HM 009 RP* 12,5 G3/8" 79 30 E 9
HM 011 R* 12,5 G3/8" 86 30 E 8
HM 013 R* 16,5 G3/4" 97 41 E 13
HM 019 R* 18,5 G1 125 46 E 12
HM 028 R* 22,5 G11/2¢ 161 60 E 15
HM 030 R* 225 G11/2¢ 181 60 E 14

1) S ARSI (SR3T0).
2) R TR AR (H) I R R 5 B S TEARL(T)-
« AR S 2R

66


WWW.OCTSOURCES.COM

HM...R REREIT

HM..R (RIRLLERE) RITTEKED

HM xxx- XX -X =-XX -XX

| HESEE, HEA R

ME T
TC=hli i &4 ENLER 1.4305, init 1.4122
TS=Mf &4 ENiar 1.4571, 14t 1.4460

fEREEENO
G=M14x1.5

K=M10 x 0.75
P=Xif#jE M14 x 1.5

Q= XEiE M10 x 0.75
D=XUf5 kM EM14 x 1.5

R
RO5=THi| N IBLER: , #1)511.4305
R7A=JE0 N IRE0GEHz, #571.4571

az N =36 E(1/min)

009 RP 0.03...0.8 (%=, HEHN2%)

003 R 0.3...1.5
004 R 05..4
005 R 0.8...6
006 R 1.2...10

007 R 2..20

009 R 3.3...33
011 R 6...60

013R 8.5...85
019R 15...150
028 R 30...360
030 R 35...400

67


WWW.OCTSOURCES.COM

